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Change 1 

	Function name
	f_TC_7_1_4_7_EUTRA

	Reason for change
	In the case of CAT-M1 operation for dowlink data the MPDCCH and PDSCH are not scheduled in the same time frame as in the case of legacy LTE operation, therefore the current timing for data scheduled at step 2 and 3 on subframes 0, 4 and 5  can cause problems with CAT-M1 UEs.

	Summary of change
	Scheduled Timing for data sent at step 2 and 3 on subsequent frames to allow CAT-M1 operation

	TTCN module
	MAC_714.ttcn

	MCC160 Comment
	


Before change
	    function f_TC_7_1_4_7_EUTRA() runs on EUTRA_PTC

  { /* L2/MAC

     * 7.1.4.7 : Correct handling of MAC control information */

    var octetstring v_EncodedRlcPdu;

    var octetstring v_EncodedPdcpPdu;

    var SubFrameTiming_Type v_Timing;

    timer t_Watchdog := 5.0;              // Local wait Timer

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init (c1);

    f_EUTRA_CellConfig_Def (eutra_Cell1);

    f_EUTRA_Preamble (eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    // creates cell and performs registration

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_EUTRA_LoopBackActivation_State4_7147_71413();

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1, cs_MAC_TestMode_NoHeaderManipulationDL_UL);

    // Configures SS DRB1 in MAC test mode.

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2); // @sic R5-101050 sic@

    //@siclog "Step 1" siclog@

    // SS ignores scheduling requests and does not allocate any uplink grant

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync (eutra_Cell1, cs_TimingInfo_Now);

    //100 ms to wait for having an accurate reference to start

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);  // per default 100ms in advance

    v_Timing.Subframe.Number := 0;

    //@siclog "Step 2" siclog@

    // Repeated 2 times

    // 1 MAC PDU = 1 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1B

    // 1 MAC SDU of 14 => RLC SDU= 12, PDCP SDU = 10

    // Total MAC PDU = 1 + 14  = 15B = 120b (best fit)

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(int2bit(0, 12), crs_PDCP_SDU_L10)));

    v_EncodedRlcPdu   := f_RLC_AMD_1PDU_Encvalue(0, tsc_NoPoll, v_EncodedPdcpPdu);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu))));

    v_Timing.Subframe.Number := 4;// suitable for both FDD and TDD Default

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(int2bit(1, 12), crs_PDCP_SDU_L10)));

    v_EncodedRlcPdu   := f_RLC_AMD_1PDU_Encvalue(1, tsc_NoPoll, v_EncodedPdcpPdu);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu))));

    v_Timing.Subframe.Number := 5;// suitable for both FDD and TDD Default

    //@siclog "Step 3" siclog@

    // 1 MAC PDU = 1 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1B

    // 1 MAC SDU of 14 => RLC SDU= 12, PDCP SDU = 10

    // Total MAC PDU = 1 + 14  = 15B = 120b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L10)));

    v_EncodedRlcPdu   := f_RLC_AMD_1PDU_Encvalue(0, tsc_NoPoll, v_EncodedPdcpPdu);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu))));

    //@siclog "Step 5" siclog@

    // Preconfig SS for UL Grant of 32 bits

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); //60 ms in future

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo(v_Timing),

                                                            0, 2); /* Nprb = 2, Itbs = 0          Table 7.1.7.2.1-1 of 36.213

                                                                      Imcs = 0 -> Itbs = 0   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 4" siclog@

    /*t_Watchdog.start;

      SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

      f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 4");

      t_Watchdog.stop;*/

….

….

}


After change

	function f_TC_7_1_4_7_EUTRA() runs on EUTRA_PTC

  { /* L2/MAC

     * 7.1.4.7 : Correct handling of MAC control information */

    var octetstring v_EncodedRlcPdu;

    var octetstring v_EncodedPdcpPdu;

    var SubFrameTiming_Type v_Timing;

    timer t_Watchdog := 5.0;              // Local wait Timer

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init (c1);

    f_EUTRA_CellConfig_Def (eutra_Cell1);

    f_EUTRA_Preamble (eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    // creates cell and performs registration

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_EUTRA_LoopBackActivation_State4_7147_71413();

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1, cs_MAC_TestMode_NoHeaderManipulationDL_UL);

    // Configures SS DRB1 in MAC test mode.

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2); // @sic R5-101050 sic@

    //@siclog "Step 1" siclog@

    // SS ignores scheduling requests and does not allocate any uplink grant

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync (eutra_Cell1, cs_TimingInfo_Now);

    //100 ms to wait for having an accurate reference to start

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);  // per default 100ms in advance

    v_Timing.Subframe.Number := 0;

    //@siclog "Step 2" siclog@

    // Repeated 2 times

    // 1 MAC PDU = 1 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1B

    // 1 MAC SDU of 14 => RLC SDU= 12, PDCP SDU = 10

    // Total MAC PDU = 1 + 14  = 15B = 120b (best fit)

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(int2bit(0, 12), crs_PDCP_SDU_L10)));

    v_EncodedRlcPdu   := f_RLC_AMD_1PDU_Encvalue(0, tsc_NoPoll, v_EncodedPdcpPdu);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu))));

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024;
    v_Timing.Subframe.Number := 0;// suitable for both FDD and TDD Default

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(int2bit(1, 12), crs_PDCP_SDU_L10)));

    v_EncodedRlcPdu   := f_RLC_AMD_1PDU_Encvalue(1, tsc_NoPoll, v_EncodedPdcpPdu);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu))));

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024;
    v_Timing.Subframe.Number := 0;// suitable for both FDD and TDD Default

    //@siclog "Step 3" siclog@

    // 1 MAC PDU = 1 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1B

    // 1 MAC SDU of 14 => RLC SDU= 12, PDCP SDU = 10

    // Total MAC PDU = 1 + 14  = 15B = 120b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L10)));

    v_EncodedRlcPdu   := f_RLC_AMD_1PDU_Encvalue(0, tsc_NoPoll, v_EncodedPdcpPdu);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu))));

    //@siclog "Step 5" siclog@

    // Preconfig SS for UL Grant of 32 bits

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 40); //60 ms in future

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo(v_Timing),

                                                            0, 2); /* Nprb = 2, Itbs = 0          Table 7.1.7.2.1-1 of 36.213

                                                                      Imcs = 0 -> Itbs = 0   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 4" siclog@

    /*t_Watchdog.start;

      SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

      f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 4");

      t_Watchdog.stop;*/
…..

…..

}


